
EE301 Thevenin Practice 
 
1.  Given the shown circuit in Figure 1: 
 

E
30V

R1 = 10Ω

R3 = 30Ω

R4 = 40Ω

R6 = 60Ω

R5
50Ω

R2
20Ω

 

 

 Figure 1  
A. Find and draw the Thevenin equivalent circuit if R5 is the load. 
B. Find and draw the Thevenin equivalent circuit if R2 is the load. 
C. Find and draw the Thevenin equivalent circuit is R1 is the load. 

 
2.  Given the shown circuit in Figure 2: 
 

E
45V

R5 = 50Ω R8 = 80Ω

R7 = 70Ω

R9
90Ω

R6
60Ω

R3 = 30Ω

R4
40Ω

R2
20Ω

R1
10Ω

 

 Figure 2  
A. Find and draw the Thevenin equivalent circuit if R1 is the load. 
B. Find and draw the Thevenin equivalent circuit if R4 is the load. 
C. Find and draw the Thevenin equivalent circuit is R9 is the load. 

 
3.  Given the shown circuit in Figure 3: 
 

E
60V

R1 = 30Ω

R2 = 60Ω

R6
90Ω

R3
40Ω

R4 = 20Ω

R5
50Ω

 

 Figure 3  
A. Find and draw the Thevenin equivalent circuit if R6 is the load. 


